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S YA D
B M)ES NEXZM(SUMNSLL/HS SN - 0 )
ol HBY CIOEH (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 40,000
401 AlEHIZL £ 0HY| 200,000 100,000 100,000
Fag 160,000
Al 40,000
01 Al&EH| 200,000 100,000 100,000
O8&lIls B&NAE &X 200,000,000 200,000
g 160,000
Al 40,000
HE KA 22 & =4 142,000 1,010,000 A 868,000
401 Al HI L £ 0HHI 142,000 1,010,000 A 868,000
01 Al& B 142,000 1,010,000 A 868,000
OHEAZTHEALE B 8L 70,000,000 70,000
OAEHAAAD SXNEF 30,000,000& 30,000
O0I=g MEZE OFMAIEZE AXZ2A
22,000,000 22,000
OESETCI & =2 SHHE ZSA
20,000,000 20,000
XY = QMY I =00 100,000 100,000 0
Fag 50,000
& 15,000
Al 35,000
307 giztol A 100,000 100,000 0
Fag 50,000
& 15,000
Al 35,000
05 QIZtR E S 100,000 100,000 0
OxXg = ALMH I =04 100,000,000 100,000
g 50,000
= 15,000
Al 35,000
ol LMD HotAlY K& 100,000 80,000 20,000
Fag 50,000
= 15,000
Al 35,000
401 Al HI L 2 0HHI 100,000 80,000 20,000
Fag 50,000
= 15,000
Al 35,000
01 Al&H| 100,000 80,000 20,000
OHLMY Il HSAY 100,000,000 100,000
Fag 50,000
& 15,000
Al 35,000
HYEHII= Ml 50,000 50,000 0
= 12,500
Al 37,500




S YA D
B M)ES NEXZM(SUMNSLL/HS SN - 0 )
ol HBY CIOEH (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 5,000 5,000 0
= 1,250
Al 3,750
01 At 22l 5,000 5,000 0
OWYHIIE MelAte 5,000,000& 5,000
< 1,250
Al 3,750
401 AIEHI L 2 CHYI 45,000 45,000 0
< 11,250
Al 33,750
01 A& HI 45,000 45,000 0
O0YHII=S MelAt 45,000,000& 45,000
< 11,250
Al 33,750
gL el N 2,000 2,000 0
= 1,000
= 500
Al 500
201 £B-2dH| 2,000 2,000 0
2 1,000
< 500
Al 500
01 At 22/l 2,000 2,000 0
oYXl el XA 2,000,000& 2,000
= 1,000
< 500
Al 500
Hotstadg ™ 547,000 537,000 10,000
101 @124 dl 20,000 15,000 5,000
04 12t Z2XEES 20,000 15,000 5,000
Ot & sHeMedl =) o=
20,000,000& 20,000
201 LB-2d| 21,000 16,000 5,000
01 At 2t 2l 5,000 5,000 0
odigtH A AR 2 S 5,000,000& 5,000
02 =24l 16,000 11,000 5,000
QoM Il =1 Ot & 3,000,000 3,000
03323 ¥ HAM(Z22xH, 2ot8)
5,000,000& 5,000
ONYMH Z22XH A2 SFX 22l
3,000,000& 3,000
ocotelE g 2323 E HAl
200,000& 200
odotzels XtE ZHl =Xl 1,800,000& 1,800
odgotzels Yy RFHI 3,000,000& 3,000
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2AK: 9
M MIES HEZTH (sl LA/ 8 - HE)
=l 3 OF X A

Sl e o

oOtx M (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
206 M = Hl 4,000 4,000 0
01 X2 H| 4,000 4,000 0
ORs HHEL, 45 s F¢ 4,000,000& 4,000
301 et A2 2,000 2,000 0
09 HAIAHI BEAZ 2,000 2,000 0
OdotA S &= &IIAF AHIE4A 2,000,000 2,000
401 Al HI L 2 0HHI 500,000 500,000 0
01 Al&H| 500,000 500,000 0
OHMEI~AZE=ZE HOLHEHIAIY (BHOUHBEZ SA
2) 500,000,000& 500,000
HAHICH REE HUYEEAS (LMD 020 M2l 98,000 176,000 AT78,000
NAg P=)
Fag 78,000
& 6,000
Al 14,000
401 AlEHIZL £ 0HY| 98,000 176,000 A 78,000
Fag 78,000
& 6,000
Al 14,000
01 Al&H| 98,000 176,000 A 78,000
OdHLEMYI Dl 020 MelAAE” 2=
98,000,000 98,000
Fag 78,000
& 6,000
Al 14,000
HICIS & DAl KNI 10,000 0 10,000
o=t 6,000
Al 4,000
201 LBt 9| 10,000 0 10,000
&< 6,000
Al 4,000
03 A2 HH| 10,000 0 10,000
O MI243| HICtSl < S AL 10,000,000 10,000
o=} 6,000
Al 4,000
HA MY =4 463,232 1,412,499 N 949, 267
= 12,000
& 27,000
Al 424 232
MAHANBE 292 122,000 12,000 110,000
201 et | 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OEEZ oM & AZEPL 2,000,000& 2,000
401 Al HI L 204 HI 120,000 10,000 110,000




2N
X ZH -
L= B

el

=TS
MAIES HEZL(SHHSSM/HL L - O E)
HLHH Y 4

= (o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 120,000 10,000 110,000
OMNALHAIZR AMNEdS 22 L KANES
100,000, 000 100,000
ONSHAZE ASSHHUE S
20,000,000 20,000
o == &2t 186,732 175,999 10,733
101 124 4| 64,832 52,999 11,833
04 JI2ZtHIZ22NEES 64,832 52,999 11,833
Odlx+==22 SHAHH A 28,090,000 28,090
Odl==2%& sFAFH o 4UEE
3,652,000& 3,652
Of==2& M2 RE Ql24H| 29,280,000 29,280
Odl+==22 otM2ALIRLY 41EE 3,810,000 3,810
201 LBt 9H]| 23,900 25,000 A 1,100
01 AP 22| d| 12,500 11,000 1,500
oddiai+==2& 22X 24 M2
2,000,000& 2,000
Olx==2% 2288 2 S 9,000,000 9,000
ORI 1= el 1,500,000& 1,500
02 2224 H| 11,400 14,000 A 2,600
02222 <2 HA 7,400,000 7,400
O A& ZHl KX 4| 2,000,000& 2,000
oddUoix==2% ANE=s ARREES
2,000,000& 2,000
301 LprE a3 8,000 8,000 0
09 HAIAHI EAZ 8,000 8,000 0
oddiii+==2& 2R A AHIE4
8,000,000& 8,000
401 AIEHIZ 201 Y| 90,000 90,000 0
01 Al&H| 90,000 90,000 0
oddUai==22 ANE= -2
20,000,000 20,000
ogdUdl==& AR 22| 40,000,000 40,000
o2& =d9stH A L oHotel X e,
ZE &AXx 22 30,000,000& 30,000
He==22 otA - &A HE ALY 50,000 50,000 0
= 25,000
Al 25,000
401 AlEHIZL 2 0HY| 50,000 50,000 0
& 25,000
Al 25,000
01 Al&H| 50,000 50,000 0
Oolx==2 ot - &8 JHAAE 50,000,000 50,000




2N

0
B A
[e]

MIES HEZ Y (sEHSL/HEL - HE)
Sl WYUNAY S4 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 25,000
Al 25,000
HESEHE 20,000 20,000 0
401 Al HI K 201 I 20,000 20,000 0
01 A& Bl 20,000 20,000 0
ONESZTEMNLEAMSE RXE=  20,000,000& 20,000
HENEOS 222 2 U7 N2 6,500 6,500 0
< 2,000
Al 4,500
402 RI2EX =20l A 6,500 6,500 0
< 2,000
Al 4,500
02 U2 THEALEZ(0IETHR) 6,500 6,500 0
OEHMENs 822 ¥ U+ XA
6,500,000& 6,500
< 2,000
Al 4,500
HEMEOs N 4,000 4,000 0
201 ¢er24l 4,000 4,000 0
01 At 2t 2l 4,000 4,000 0
ONEMENE £ ROE 222 NA
4,000,000& 4,000
HLHMAEZ= DEZTZ ] 24,000 24,000 0
= 12,000
Al 12,000
307 gl2tol & 24,000 24,000 0
= 12,000
Al 12,000
02 IZHE M AHE L 24,000 24,000 0
O MAEZ= NKEZZNH 2
24,000,000 24,000
= 12,000
Al 12,000
geUoi==% iH=H 50,000 90,000 A 40,000
201 Let249] 50,000 0 50,000
03 &AL E HI 50,000 0 50,000
odthoi==Z oHH=HM XI& 50,000,000& 50,000
EHAE2HZH (G L==40H)(JIEH/DIE) 86,120 86,120 0
Jl= &l 86,120 86,120 0
JlE&l 86,120 86,120 0
201 £B-2dH| 8,000 8,000 0
01 At 22l 8,000 8,000 0




S A ol = AbD
M. HEHH | (o) FOL) (DIEH/DIEF)
¢l =gl (chel & 9l)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
O Yet+=gH| 5,000,000& 5,000
o= &l 3,000,000 3,000
202 (4] 73,920 73,920 0
01 2L Y] 73,920 73,920 0
oO2UHE& NI 280,000& x22H x12& 73,920
203 ¥R =&Y 4,200 4,200 0
04 ENSI IR =Y 4,200 4,200 0
ORN2IIRF&Y| 4,200,000 4,200
HEDYEMNL (2ELXGHL /X AL Al 50,000 0 50,000
HEZ2A 50,000 0 50,000
B MAHEIME ALS 50,000 0 50,000
403 X SHXMSA201 A 50,000 0 50,000
02 BI2SH S 2 A 2 & AFE B 50,000 0 50,000
OXESEBZ HLAMY JSXA 4
50,000,000& 50,000




